
1-1/4" Flush Mount Standoff Cap
Product # SCC125038170

DESCRIPTION
Designed to be used with 1-1/4" stand off bases (5/16-18 thread) and with minimum
material thickness of 3/8" (9.5 mm). Overall length of fastener is 7/8" (22 mm). 

Overall length including plastic insert washer is 1-3/16" (30 mm), overall depth of insert
washer 5/16" (8 mm).

REQUIRED PRODUCTS

Requires the following products
 

 

TECHNICAL SPECIFICATIONS

Product # SCC125038170

Diameter 1 1/4 in

Thickness 3/8 in

Finish Brushed Stainless Steel

Threaded 5/16" - 18

Height 7/8 in*

Material Stainless Steel: 303

Type Low-Profile

Disclaimer

Measures shown with an asterisk (*) have been converted as per your preference. These are not the official measures. To view the
measures specified by the manufacturer, click here.

APPLICATION
Requires: 3/4" diameter hole and 1-1/2 countersunk hole (depth varies by material thickness).

1-1/4" Diameter Solid Metal Standoff Base

Page 1 of 2

https://www.richelieu.com/us/en/category/glass-hardware/stand-off-clips-and-glass-shelf-supports/standoff-solutions/standard-standoff-bases/1-1-4-diameter-solid-metal-standoff-base/1170872
https://www.richelieu.com/us/en/category/glass-hardware/stand-off-clips-and-glass-shelf-supports/standoff-solutions/standard-standoff-bases/1-1-4-diameter-solid-metal-standoff-base/1170872
/us/en/product/printSku/pdf/SCC125038170?unit=n


IMPORTANT INFORMATION
For safety purposes, use tempered glass. The use of power tools during installation may damage the hinges and decorative hardware.
The glass must be shaped according to the section plane provided in the box. Always set the product in a suitable material. Never
exceed the load or maximum size recommended by the manufacturer. Never use a spray lubricant on this product. Maintenance: clean
with a soft cloth and non-abrasive soap or ammonia. This illustration is provided for visual reference only. Actual product may differ from
the illustration. Order hardware before starting the job. The manufacturer reserves the right to change product and information without
notice. Always use the instructions inside the package. Drawings and technical documents contain examples of hardware from different
manufacturers. The customer may in no case make a claim following the use of these documents. The Company disclaims any
responsibility for the structural details related to a construction or project. Installation must be done by qualified personnel. Always make
sure that the product is properly installed using suitable fixings to the support material. Never exceed the load or maximum size
recommended by the manufacturer. Never use a spray lubricant on this product.

INCLUDED PRODUCT(S)
A 1" 5/16x18 assembly screw is included

DISCLAIMER
The preceding information as well as any technical recommendation given in writing, verbally or based on tests is provided to the best of
our knowledge. However, recommendations are non-binding and do not diminish your responsibility for determining the correctness of
these recommendations and the suitability of the product for your particular purpose. The application, use or processing of our products
as well as the production of products based on our technical recommendations are beyond our control and therefore exclusively your
responsibility. Sales of our products are subject to our most recent General Sales and Delivery Conditions. Please note that Richelieu
will not accept any returns or claims for unpackaged products.

PRODUCT PHOTOS

Page 2 of 2


	1-1/4" Flush Mount Standoff Cap
	DESCRIPTION
	REQUIRED PRODUCTS
	TECHNICAL SPECIFICATIONS
	APPLICATION
	IMPORTANT INFORMATION
	INCLUDED PRODUCT(S)
	DISCLAIMER
	PRODUCT PHOTOS


